



St. Louis County, Minnesota

Date of Report: 12/15/2025 11:56:38 PM

General	Details
Ochela	Detallo

Parcel ID: 580-0010-00730

Legal Description Details

Plat Name: WUORI

Section Township Range Lot Block

59 17

Description: S 660 FT OF W 660 FT OF NW 1/4 OF SE 1/4 EX BEG AT SW COR THENCE E 350 FT THENCE N 275 FT THENCE NWLY TO A PT ON W LINE 350 FT N OF SW COR THENCE S 350 FT TO PT OF BEG

Taxpayer Details

Taxpayer Name BURJA MARK ANTHONY

and Address: 6960 BEECH RD

VIRGINIA MN 55792

Owner Details

Owner Name BURJA MARK A ETUX

Payable 2025 Tax Summary

2025 - Net Tax \$1,008.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$1,008.00

Current Tax Due (as of 12/14/2025)

Due May 15		Due October 15	•	Total Due		
2025 - 1st Half Tax	\$504.00	2025 - 2nd Half Tax	\$504.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$504.00	2025 - 2nd Half Tax Paid	\$504.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: 6976 BEECH RD, VIRGINIA MN

School District: 2909
Tax Increment District: -

Property/Homesteader: BURJA, MARK A & LINDA L

Assessment Details (2025 Payable 2026) Def Bldg **Class Code** Homestead Land Bldg Total Def Land **Net Tax EMV** EMV **EMV EMV EMV** Status Capacity (Legend) 201 1 - Owner Homestead \$14,500 \$110,300 \$124,800 \$0 \$0 (100.00% total) Total: \$14,500 \$110,300 \$124,800 \$0 \$0 1248





St. Louis County, Minnesota

Date of Report: 12/15/2025 11:56:38 PM

			Land De	etails				
Deeded Acres:	7.49							
Waterfront:	-							
Water Front Feet:	0.00							
Water Code & Desc:	-							
Gas Code & Desc:	-							
Sewer Code & Desc:	-							
Lot Width:	0.00							
Lot Depth:	0.00							
The dimensions shown are n https://apps.stlouiscountymn.	ot guaranteed to be s .gov/webPlatsIframe/f	urvey quality. A rmPlatStatPopl	Additional lot i Up.aspx. If th	information can be f ere are any question	ound at ns, please email <mark>PropertyT</mark>	ax@stlouiscountymn.gov.		
		Improven	nent 1 Det	ails (30X53 DG)			
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
GARAGE	0	1,59	90	1,950	-	DETACHED		
Segment	Story	Width	Length	Area	Foundat	on		
BAS	1	41	30	1,230	FLOATING	SLAB		
BAS	2	12	30	360	FLOATING	SLAB		
		Improve	ement 2 De	etails (ST 8X8)				
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	0	56	;	56	-	-		
Segment	Story	Width	Length	Area	Foundati	on		
BAS	0	7	8	56	POST ON GF	ROUND		
		Improveme	ent 3 Detai	ils (8X20 CNTN	R)			
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	0	160	0	160	-	-		
Segment	Story	Width	Length	Area	Foundat	on		
BAS	0	8	20	160	POST ON GF	ROUND		
		Improvem	ent 4 Deta	ails (CPT 12X18	3)			
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
CAR PORT	0	216	6	216	-	-		
Segment	Story	Width	Length	Area	Foundat	on		
BAS	1	12	18	216	POST ON GF	ROUND		
Improvement 5 Details (Q-HT 40X64)								
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	0	2,56	60	2,560	<u>-</u>	-		
Segment	Story	Width	Length	Area	Foundat	on		
BAS	0	40	64	2,560	FLOATING	SLAB		
Improvement 6 Details (WOODSHED)								
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
LEAN TO	0	80)	80	<u>-</u>	-		
					Foundation			
Segment	Story	Width	Length	Area	Foundat	on		

2 of 4





St. Louis County, Minnesota

Date of Report: 12/15/2025 11:56:38 PM

Improvement 7 Details (CRPRT)							
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
CAR PORT	0	216		216	-	-	
Segment	Story	Width Length Area		Foundati	on		
BAS	3101 y	12	18	216		POST ON GROUND	
BAO	ı	12	10	210	1 031 011 01	TOOND	
		•		tails (FRAME S	•		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	0	120	0	240	-	<u>-</u>	
Segment	Story	Width	Length	n Area	Foundati	on	
BAS	2	10	12	120	POST ON GF	ROUND	
		Impro	vement	9 Details (ST)			
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	0	27	•	27	-	-	
Segment	Story	Width	Length	n Area	Foundati	on	
BAS	1	3	9	27	POST ON GR	ROUND	
		Impro	romont 1	IO Deteile (ST)			
	V 5 11	-		0 Details (ST)		0.10.10.	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	0	27		27	-	-	
Segment	Story	Width	Length		Foundati		
BAS	1	3	9	27	POST ON GF	ROUND	
		Improv	vement 1	1 Details (ST)			
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	0	27	•	27	-	-	
Segment	Story	Width	Length	n Area	Foundati	on	
BAS	1	3	9	27	POST ON GF	ROUND	
		Improv	vement 1	2 Details (ST)			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	0	18		18	_	otyle code a bess.	
Segment	Story	Width	Length		Foundati	on	
BAS	3101 y	3	6	18	POST ON GR		
DAG	ı				FOST ON GR	COND	
		Improv	vement 1	3 Details (ST)			
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	0	18	3	18	-	<u>-</u>	
Segment	Story	Width	Length	n Area	Foundati	on	
BAS	1	3	6	18	POST ON GF	ROUND	
Improvement 14 Details (ST)							
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	0	18		18	- -	-	
Segment	Story	Width	Length		Foundati	on	
BAS	1	3	6	18	POST ON GF		
Improvement 15 Details (ST)							
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	0	15		15	- Jasement i illisii	otyle code a best.	
STORAGE BUILDING	U	15)	ıΰ	-	<u>-</u>	





St. Louis County, Minnesota

Date of Report: 12/15/2025 11:56:38 PM

nt Stor	y Width	Length	Area	Foundation			
1	3	5	15	POST ON GROUND			
	Sales Reported	to the St. Louis	County Auditor				
le Date	Purchase Price CRV Number						
1/1994	\$10,000 (T	his is part of a multi p	parcel sale.)	97041			
	A	ssessment Histo	ory				
Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Land B	Def Idg Net Tax MV Capacity		
201	\$12,600	\$89,900	\$102,500	\$0	\$O -		
Total	\$12,600	\$89,900	\$102,500	\$0	\$0 1,025.00		
201	\$12,000	\$85,700	\$97,700	\$0 5	\$O -		
Total	\$12,000	\$85,700	\$97,700	\$0	\$0 977.00		
201	\$10,700	\$74,800	\$85,500	\$0 \$	\$O -		
Total	\$10,700	\$74,800	\$85,500	\$0	\$0 855.00		
201 2021 Payable 2022		\$70,600	\$80,700	\$0 \$	\$O -		
Total	\$10,100	\$70,600	\$80,700	\$0	\$0 807.00		
Tax Detail History							
Tav	Special	Total Tax & Special	Toyoble Land MV	Taxable Building	Total Tayabla MV		
					Total Taxable MV \$97,700		
******	*	******	· , ,		\$85,500		
	** **	*	, -,	, ,	\$80,700		
	Class Code (Legend) 201 Total 201 Total 201 Total 201	Sales Reported Sale	Sales Reported to the St. Louis	Sales Reported to the St. Louis County Auditor Le Date	Sales Reported to the St. Louis County Auditor Purchase Price		

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.